Seat No.

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination
Date:14-06-2017

Subject Code: C300009

Subject Name: Applied Chemistry (Group-I)

Time: 10.30AM TO 12.00PM
Instructions:

1.

Attempt all questions.

Total Marks: 70M

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Ul sl (AscAl.
Electronic configuration of Argon is
1. | A. | [Ne]3S23P° B. | [Ne]3P°®3S2
C. |[Ne]3S?3P° D. | [Ne]3S%3P’
Woletefl SAS2Net U Usl
T A [Ne]3s%3PS B. [ [Ne]3P®3s?
C. |[Ne]3S?3P° D. | [Ne]3S%3P’
The substance which accelerates the rate of reaction is called
2. | A. | Positive catalyst B. | Negative catalyst
C. | Neutral catalyst D. | None of the above
% UL A5t A YAl 53 Aol 58 B?
2. | A | udt Jelcdle B. | i 3daiclle
C. | deru daicllze D. | 2l ol As gl o8l
Which type of bond is observed in Methane (CHa)?
3. | A. | Covalent bond B. | lonic bond
C. | Metallic bond D. | Hydrogen bond
At Ui sl YSIR oll olt Slal HA B?
3. UeUAwS oltl B. | aal@s oltt
C. | ailRs oy D. | slg5dlaget ot
Which of the following catalytic inhibitor in Haber process of Ammonia?
4. A. | Pt B. | CO
C. |Fe D. | Mn
(Aol s ueld 612 Bl Hi Gelus 31y Gulol auld B?
A pt B. [CO
C. |Fe D. | Mn
Which of the following catalyst is used in preparation of vegetable ghee?
5 |A. [Ni B. |Fe
C. |Cu D. | Pt
dotrucl el ofl olotlae Ml 50 GElus aur B?
4. A INi B. |[Fe
C. |Cu D. | Pt
is an example of polar covalent compound
6. A. | H2 B. HBr
C. |Cl D. |02
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A yYclla usA s UAlxoto] GELEL B?

S- [A [H B. [HBr
C. |Clz D. | O
How many phosphorous-phosphorous bonds are present in P4 molecule?

7. |A. |4 B. |5
C. |6 D. |8
WURQIHL Bl SlegU-SlRgU olu slR &l B?

9 A [4 B. [5
C. |6 D. |8
Intra —molecular hydrogen bonding is possible in

8. | A. | Para-chlorophenol B. | Ortho-chlorophenol
C. | Water D. | Ammonia

U At vueclal slefQloget oitd s B?

¢. | A ARA-sAASAA U Al-sAAS\A A
C. | well D. | e
PH of Acid is

9. | A. | Greaterthan 7 B. | Greater than 14
C. | Lessthan7 D. | Between 8to 10
AAls ol PH 87

c. |A |7 sdl aul 14 $cll AUR
C. |7 st 28 D. |8 2l 10 c2®
Find the PH of solution of 4.9¥10“N HCI .(log49=1.6902)

10. ' T4.3098 B. [3.3098
C. |5.3098 D. |2.3098
4.9x10*N HCl slclel ofl PH 20 .(log49=1.6902)

10. A [4.3098 B. [3.3098
C. |5.3098 D. |2.3098
What is the PH value of 0.2 M HCI. (log2=0.3010)

11. | A. | 0.6990 B. |1.6990
C. |2.6990 D. |3.6990
0.2 M HCI sladl ol PH 9] &2\ .(log2=0.3010)

1. A [0.6990 B. [1.6990
C. |2.6990 D. |3.6990
Which of the following does not affect degree of ionization?

12. | A. | Temperature B. | Dilution of solution
C. | Pressure D. | Nature of ionic compound
(LAt Hiel sell UIloln w250 2l A HAR $ otell?

Q. AluMLet B. | araal ol dec
C. | eaunl D. | alells uetdall ysi2

ions are responsible for acidic nature of solution

13. | A. | HO" B. |OH
C. |Na' D. |CI

WAl slalell ARSISAL HIZ FUHER B?

3. A [Hs:O* B. [OH
C. | Na* D. [CI

14. | If [H3O*]<[ OH]then solution will become
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A. | Acidic B. | Basic
C. | Neutral D. | None
%l [H30*]<[ OHT &l l alal ola
1. AR B. | als
C | der D. | 81 ugt o8l
Which of the following does not have PH importance?
15. | A. | Chemical industries B. | Pharmaceutical
C. | Computer laboratory D. | Agriculture
o(lAstHil sl 24 PH GulaL olell?
. | A | raells Gl stulr)élset
C. | shuyer Aal D | Acladl
For pure water, PH+POH=
16. | A. |10 B. [0Oto14
C. |7 D. |14
9l Wl 1, PH+POH=
1. |A [ 10 B. [gall14
C. |7 D. |14
What will be the PH of 0.001M H2S04 (aq) Solution? (log 2= 0.3010)
17. | A. | 0.05 B. |2.6990
C. |0.6990 D. |1
0.001M H2S04(aq) sttt ofl PH 32cll 8. (log 2= 0.3010)
19. A T0.05 B. [2.6990
C. |0.6990 D. |1
What is the value of ionic product (Kw) of pure water at 25°C temperature?
18. | A. | 10 mol? liter? B. | 107" mol liter?!
C. | 10 mol? liter? D. |10 mol liter?
25°C ctuMlal Wgllott olls 9[ouUsiR (Kw) oll BHd 32dl sl &2
1. | A |10 @er? B. 1107 Qe @2??
C. | 10™ Qe @er? D. 104 Q0 @222
Mg(s)—>Mg™ + 2e’is
19. | A. | Oxidation process B. | Reduction process
C. | Catalysis process D. | Homogeneous process
Mg(s)—>Mg* + 2e” A
e [ A [ sl3aet yla B. | Assaet ybau
C. | 3ercllwlla ubau D. | diloflella ysau
The following factors play vital role in corrosion process
20. | A. | Temperature B. | PH solution
C. | Both D. | None
&R0l YBauHi woleRlell Mol e B.
0. lUHLet B. | PH sl
C.o e o D. | Als ugl «18l
Which metal is used as cathode in galvanic cell
2. |A. | Zn B. |Cu
C Al D. |U
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1.

AcAolls AUl 3As dl3 565 uUldell GUADL A §?

A. | Zn B. |Cu
C. | Al D. |U
Reduction means of electrons
22. | A. | Gain B. | Loss
C. | Transfer D. | None
Aot e Isset sdllal.
2. | A [ Anaal B. | opuiata
C &% D. | A5 ug 18l
is an example of organic inhibitor
23. | A. | NH4sOH B. | Thiourea
C. | CA(OH), D. | Alumina
A slololls [(ARAUs of GelgRwL B.
The substance which reduces reduction of oxygen is known as
24. | A. | Anodic inhibitor B. | Organic inhibitor
C. | Catalytic inhibitor D. | Cathodic inhibitor
WAl of Iss2Aot Y2l Al 58 B,
¥. | A | Alldls (RAus B. | siolells @3Aus
C. | Glus [@Au D. | 318l @Aus
Destroy of metal by electrochemical reaction is known as
25. | A. | Corrosion B. | Hot dipping
C. | Galvanizing D. | Tinning
(Qosr210(ls YBaa s1RQL ad Uldej @Qottal d3l% Do 8.
U, [A | anul B. | &z Qo
C. | AcAeuesiNat D. | AL
Stainless steel does not rust due to the presence of
26. | A. | Carbon B. | Copper
C. |Zinc D. | Chromium
A &lx3lal ARl Rt Wldof aRel ud el
5. | A | stolet B. | slu?
C. | ofls D | sllan
Full name of EDTA is
97 A. | Ethylene diamine tetra acetic B. | Ether diatonic tetra acetic acid
' acid
C. | Ethel diatonic tetra acetic acid D. | Ethylene diatonic tetra acetic acid
EDTA of Y3 olld 2L
A | Sdlcllot sISRAHES L 23l B. | gy sisA2E@s 22l ARRs AR
R4, ARRs AR
C. | gacd stsR@s 2ol ARRs | P | Sdlcllot sisRAAs 22 ARRS
ARS ARS
28. | 1°clerks is equal to
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A. | 15.3 ppm B. | 14.3 ppm
C. |13.3 ppm D. | 12.3 ppm
1° SAls GRIOR

. |A 153 WL Ulau B. | 143 L LA
C. 1133l dlan D. | 123 L. Ul.an
What is the chemical equation of permutit process

29. | A. | Na2,Al2Si;0g,XH20 B. | XH20 Naz, Al;Si»Os
C. | Si208XH20 Naz,Al2 D. | Al:SioOs XH20 Naz
uydle utuld of AUUCS Y 5 B.

RC. [ A, | Nag,AlSiz0g,XH20 B. | XH20 Naz, Al;SizOg
C. | Si208XH20 Naz,Al D. | Al:Sio0Os XH20 Naz
Water which does not produce foam with water easily is known as

30. | A. | Hard water B. | Soft water
C. | Heavy water D. | Impure water

wiell e WA udaua &l (3el wud el

30. | A | A well B. | ot wall
C.o eud wel D. | gea wel
Which of the following salt is responsible for temporary hardness?

31. | A. | Calcium chloride B. | Magnesium chloride
C. | Calcium bicarbonate D. | Calcium sulphate
ol Al 50 &R &lRlls sEotdl HIZ SAUNHER B?

34, | A | 3@ SARSS B. | DoRan sARSs
C.o | 3@an cua stellale D. | 3(@an ucke
Which indicator is used in hardness measurement of EDTA?

32. | A. | Phenolphthalein B. | Methyl Orange
C. |[EBT D. | Methyl red
EDTA &1 WRlloll s8lotcll HIUaAHl S JUS dAURAA B?

32. | A | BellesdQot B. | dlauset 2%

C. | &.olldl D. | flausset 2s
Reverse Osmosis is use type of membrane

33. | A. | Semi permeable B. | Permeable
C. | Non permeable D. | None
Actel AEReell yldal 1l UsRAR ol USEL duRl B?

33. | A | wronal B. | 2iyal wrov
C. | auronal D. 1 818 uat <8l
In electro dialysis, negative ions travels towards

34. | A. | Cathode B. | Anode
C. |BothA&B D. | Either AorB
gasglstacllal {1l bRl A2l 2% ol 53 ®.

3%, | A | 3els B | Aals
Co g ua o D. | g el o
What is the proportion of chlorine in potable water

35 |A. | 0.1t00.2 ppm B. [0.1t00.4 ppm
C. | More than 0.4 ppm D. | 1to4ppm
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Wleuctas wellui scldlets] yuial ded sl 82

3w, | A Jo1ello2 L UlLau B 1o1ell04 L dlan
C.oloadllan ol ay D. 1 1e0l 4 Ll AAn
Is an example of coagulant
36. | A. | Fex03 B. | FeCls
C. | Alum D. | Alloy
A Weso] GeleWL O,
3G6. | A, | Fe03 B. | FeCls
C. | gessl D. |3t wid
Which of the following is raw material to make cement
37. | A. | Lime stones B. | Iron
C. | Coal D. | Sand
AlHe olotlaal Hdd 51y Hllud s B.
39. | A | Yolloll UeaUR B. | et
C. | slaa D. 13l
After 3 days the compressive strength of port land cement is
38. | A. | 11.5 N/mm? B. | 12.5 N/mm?
C. |13.5N/mm? D. | 14.5 N/mm?
N2 clottcatl Ul 222 2L o udl Weds el slndla B
3¢. | A | 115 et 1 12.5 o2jeat/H{13{12
C. 1135 cjeat/a {312 D. 1 145 2jeata {112
Chemical formula of potash led glass is
39. | A. | K20 PbO 6SiO; B. | 6SiO; K20 PbO
C. | K20 6SiO. PbO D. | 6SiO. PbO K>0
el As sl of AUAULS Yo = B.
3¢. [ A. [ K20 PbO 6SiO, B. [6SiO2 K20 PhO
C. | K20 6SiO. PbO D. | 6SiO. PbO K>0
Which of the following is the constituent of cement?
40. | A. | SIO; B. | AlOs
C. | NaOH D. |BothA&B
L ActtHiYl s ueld @ANe ol oluRel Hi dlal B?
¥0. | A. | SiO B. | AlOs
C. | NaOH D. |2 wa ol
is not a step of manufacturing of glass
41. | A. | Melting B. | Forming & Shaping
C. | Hardening D. | Annealing
slA GAUlEot u@aoﬂ el ol
¥ | A [ ot B. | 23U el aslR wudl
Co | s D. | dtuey ellctot
Thermal expansion number of refractories should be
42. | A. | High B. | Low
C. | Intermediate D. | None
GuHIUS oll GBHL YULRQL Wis slcll S\,
¥2. X
A e SN
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185 uRL o8l

Soda lime glass is chemically

43. | A. | NaO Ca0 6SiO; B. | K20 Ca0 6SiO2
C. | K:OPbO 6SiO» D. | B2Os
ASL AUESH sl AU2ARs A .

¥3. | A. [ NaO CaO 6SiO; B. [ K20 CaO 6SiO,
C. | K20 PbO 6SiO; D. |B:0Os
Which is known as flint glass?

44. | A. | Potash lead glass B. | Boro silicate glass
C. | Silicaglass D. | Potash lime glass
53 sclle st 3% BMaua 82

¥y, [A Qe As st RARA3E st
C. | R@st siu D. | Qe calsu s

is an example of neutral refractory

45. | A. |SIC B. |SiO>

C. | Ca0 D. | None of the above
A U GWUee] BGELERL B.

¥U. | A. | SiC B. |SiO>
Magnesia is an example of

46. | A. | Neutral refractory B. | Acidic refractory
C. | Basic refractory D. | All of the above
Noslflal A of GELERNL B.

¥s. | A | dere Guute ARBs Guuue
C. | ads Guuus D. | GuRlsd cteues
Generally density of glass wool is

47. | A. | 65kg/m® B. |70 kg/m®
C. |50 kg/m? D. |80 kg/m®
AHLA A sciugd ol dotcl 3ecll 8l B.

¥9. | A | 65 B/ 70 Ao/
C. |50 BAloum /e D. | 80 BAloun/H{?
Generally density of thermocole is

48. | A. | 22 kg/m® B. |44 kg/m®
C. |66 kg/m® D. |56 kg/m®
AL A wlBlA oll dstcl 3ecll sl B.

¥¢. 22 (3o /{1 B. | 44 B/l
C. | 66 (Bl /{2 D. | 56 Boum/{?
Which of the following is not a purpose of using paints?

49. | A. | To prevent corrosion B. | To decorate surface
C. |BothA&B D. | None
ol AottHiell sl dell 201 auRiael Geat otell?

se. | A |aurel ol el B auidl A yelletst
C.o g wa o D. | & uul «18l

50. | Which of the following are constituents of paints?
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A. | Vehicle B. | Drier
C. | Filler D. | All of the Above
o(lAsmill sl dcll 0tetl U2s B?

Yo0. Yscol dcd Yscloll acU

C.lys D. | Gudlsd oo
IS used as thinner in paints

51. | A. | Turpentine B. | Water

C. | Alcohol D. | Chloroform
A dell 0l drets 31d auRla 8.

uq. 2ol ot B. | il
C. | aenda D. | s
When resin dissolves in methylated spirit is known as

52. | A. | Qil varnish B. | Natural varnish
C. | Spirit varnish D. | None
Al MllAes RURe Hi Addet voUn Ml MA AR Wal .

UR, Act ety B | gercll aulolu
C. ARz allx D. | 8188 ua 18l
Which of the following is used as insulating materials?

53. | A. | Glass wool B. | Thermo Cole
C. |BothA&B D. | EitherA&B
o(lAottHiell sl ueled [Qriaudl uetd 8?2

u3, A A aulsld
Colaua o D | 2 gt o

is/are used as drying oils in paint

54. | A. | Linseed oil B. | Fish ol
C. | Soya bean oil D. | All of the above
Vo2 Ui Ysot Ad 33 ARl B,

uy. ARlle] Act B | weello] aa
C. | Qauellet act D. | Gualsd ottuy

is an example of white pigment

55. | A. | Pb3Oqy B. Fe O3
C. | Prussian blue D. | ZnO

A U%e dulse] GelgL B.

yu. | A. | PbsOqy B. | Fe:0Os3
C. | yRast o D. | znO
Triphenyl phosphate is an example of

56. | A. | Thinner B. | Plasticizer
C. | Pigment D. | Filler
gla(goisSe slade A o} GEl&RL B.

us. | A | draes B. | yueusizs
C. | ads D. | yzs acal

57 Bakelite is obtained from phenol by reacting with

A. |HCHO

|B. [HCL
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| (CH,0H),

| D.

| CHsCHO

9.

AdAlESe A glollcmidll clotlctelti WA RUR sl AHe AU Ylsal s,

A. | HCHO B. |HCL
C. | (CH.OH), D. | CHsCHO
The monomer of Buna-S rubber are

58. | A. | Styrene and butadiene B. | Isoprene and butadiene
C. | Vinyl chloride and sulphur D. | Sulphur
ofol- AU AU sl HlollHR sl B,

uc. W3t Aal oYaLsieSat B. | S Aot A vf2UsIe et
C. | QousScd sARASSs uUA dlus | P | olus
Which of the following polymers is prepared by condensation polymerization?

59. Teflon B. | Rubber
C. | Nylon -6,6 D. | Buna-S rubber
[RAcmill 2] WAHR 5301AUot WAlHAS Dot coticu &,

ue. 25cllot B. w2

oAlRACAA-6,6 D. | gyet-A 2012
The monomer of polyvinyl chloride (PVC) is

60. | A. | Vinyl chloride B. | Ethylene dichloride
C. | Chloroform D. | Ethyl chloride
(PVO)WLAl Qalc sAARESS A sell HellHR dlaL B.

s0. | A | [QeusSe sARSS B. | gallellot SISSARESS
C. | sAdxn D. | St sARIESS

is used as catalyst in preparation of polypropylene

61. | A | Pt B. | Ni
C. | Ziglar D. | None
WANAlt olt Geuteot i GElUs Ul B.

sa. |A. | Pt B. Ni
C. | oz D. | 8188 uaL 18l
Full form of PTFE is

62. | A. | Polymer try fluoro ethylene B. | Poly try fluoro ethylene
C. | Poly tetra fluoro ethylene D. | None
PTFE of Y3 o™ 8.

s, | A QR gl sAQR sllellot WAl et sAR Sellcflot
C. 1A 2al A Sdlcllot D. | 8188 uaL 18l
Monomer of orlon is

63. [A. Ethylene B. | Vinyl cyanide
C. | Vinyl chloride D. | Vinyl bromide
WRA ol HlollHR 8.

s3. | A | Sdlclet QoS UESUES'S
C. | QeousSed sARSS D. | @QotSet clHueSs

is used for vulcanization of rubber

64. |A. |S B. | Se

C. |Fe D. |Cr
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S¥.

R6R ol ACSETRI M AUR 8.

A |S B. | Se
C. |Fe D. |Cr
is an example of natural adhesive.

65. | A. | Starch B. | Phenol formaldehyde resin
C. | Epoxy resin D. | Sodium silicate

A el Aol ueldd B.

S\, @l slolldt RACS16LESS Adbel
C. | sQsll 23t D. | ABan RcAl3e
Which of the following is a thermoplastic?

66. |A. | PVC B. | Bakelite
C. | Melamine D. | Epoxy resin
ol Aotl Ul 59 iU Yotral B?

ss. [A | ULellall. B | adaudse
C. | At D. | gdsall 23Bet

is an example of synthetic adhesive

67. | A. | Epoxy resin B. | Buna-N

C. | Buna-S D. | Isoprene
A UleAR A Ao(lo] Belea B.

s9. | A | gWsAl 2Ret ofoll- N
C. | ggotl- A D | 2SRt
Natural rubber is a polymer of

68. | A. | Isoprene B. | Chloroprene
C. | Caprolactam D. | Styrene
secl 02 AW ol WAlHR ®.

s¢. |A | ASARA B. | st
C. | 3aasen D. | et

is an example of addition polymer

69. | A. | Nylon-6,6 B. | Polyethylene

C. | Buna-S rubber D. | Melamine
A ARld WAlHR GelgRul B.

se. | A | sllauclol-6,6 B. | Qdlgsallcllet
C. l¢ot- 5 R0 D | Reweot
Hexamethylenediamine and adipic acid are used as monomers in manufacturing
of

70. A. | Nylon-6 B. | Nylon-6,6
C. | Buna-N rubber D. | None of the above
dsoilllcdlotsiaRn s wal AUy ARS ol oll Geulgal Hi
AU &

YO0. A

© | sllAAlt-6 o{lAAo1-6,6
C. gfot- N 201 D | 818 g «tdl

kkhkhkhhhkhkkkkkik
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